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NEW QUESTION 1
Refer to the exhibit.

interface mgmt
static
up
Hac B33 M0:20:c2:

IPv4 addre ' i o4 F ) Ry

IPvE ss/prefix

IPve link local addr
Default gateway IPvé
Primary Names
dary
Core-1# ping

connect: Network

What change on Core-1 will result in a successful ping to 10.1.1.254 from the management interface?

A. Use the command ping 10.1.1.254 vrf mgmt

B. Use the command ping 10.1.1.254/24

C. Change the Core-1 management address to 10.1.1.1/25 first
D. The destination 10.1.1.254 requires configuring a static route

Answer: A

NEW QUESTION 2
Refer to the exhibit.

Heg-=jBg—=lg—=

The Aruba 8400 in the exhibit is member 2 of a VSX stack.
Which command will enter the interface sub configuration mode for the port, indicated by the orange square?

A. 8400(config)# interface 2/4/15
B. 8400(config)# interface 1/7/16
C. 8400(config)# interface 1/4/15
D. 8400(config)# interface 2/3/17

Answer: A

NEW QUESTION 3
What are two OSPF attributes within the hello messages that must match to successfully establish neighbor relationships? (Choose two.)

A. Router ID

B. Priority

C. Hello and Dead intervals
D. Area ID

E. Process ID

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM HPE6-A72 Dumps From Exambible
exam blb|@ https://www.exambible.com/HPEG-A72-exam/ (88 Q&AS)

Answer: CD

NEW QUESTION 4
What are the commands to disable SSH and HTTPS services from the default VRF?

A. Core-1(config)# no ssh server Core-1(config)# no https-server

B. Core-1# no ssh server vrf default Core-1# no https-server vrf default

C. Core-1(config)# no ssh server enable Core-1(config)# no https-server enable

D. Core-1(config)# no ssh server vrf default Core-1(config)# no https-server vrf default

Answer: D

NEW QUESTION 5
Refer to the exhibit.
Tll-Access-2# show lldp configuration

LLDF Global Configuration

LLDP Enakled : Yes
LLDP Transmit Interwval ¢ 30
LLDP Hold Time Multiplier : 4
LLDF Transmit Delay Interval :
LLDP Reinit Time Interval -

TLVs Advertised

Management Address
Port Description
Port VLAN-ID

System Capakbilities
System Description
System Name

oUI

LLDF Port Configuration

<——— output omitted ———>

EORT THX-ENABLED BEX-ENABLED
14141 Yas Yas
1/1/2 Yes Yes
1/1 /27 Yes Yes
1/1/28 Yas Yas

What configuration is needed in order for "show LLDP configuration" to show this output?

A. none; LLDP is enabled by default on Aruba switches
B. configuring LLDP both globally and on the interfaces
C. enabling LLDP on the interfaces only

D. configuring LLDP globally only

Answer: A
NEW QUESTION 6
What are the benefits of a 3-Tier design over a 2- Tier? (Choose two.)

A. Offloading processing from the Core without routing at the Access layer.

B. Can use lower speed links between Core to Aggregation and Aggregation to Access given the use of an Aggregation layer.

C. Lowering the cost of a deployment due to needing less switches overall.
D. Better scalability in a campus with a large number of buildings.
E. Gaining the flexibility to connect the Data-Center to any Access layer switch.

Answer: AD

NEW QUESTION 7
Refer to the exhibit.
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Access-1

1/1/3

1/1/2 1/1/1

o -

PC-1

LLDP

Access-2

1/1/4
1/1/5

Access-3

The command show LLDP neighbor-info gets typed into Access-1. All switches are Aruba OS-CX switches.
What is the output of this command?

* LOCAL-PORT CHASSIS-ID

® LOCAL-PORT CHASSIS-ID

1/1/1

© LOCAL-PORT CHASSIS-ID

> LOCAL-PORT CHASSIS-ID

Answer: D

NEW QUESTION 8
Refer to the exhibit.

Your Partner of IT Exam

90:20:c2:bced:00 1/1/2
90:20:c2:bcef:00 1/1/2

90:20:c2:bced:00 1/1/2

90:20:c2:bced:00 1/1/1
90:20:c2:bcef:00 1/1/5

90:20:c2:bced:00 1/1/1

PORT-ID

PORT-ID

PORT-ID

PORT-ID

PORT-DESC TTL SYS-NAME

1/1/2 120 Access-2
1/1/2 120 Access-3

PORT-DESC TTL SYS-NAME

1/1/2 120 Access-2
PORT-DESC TTL SYS-NAME

1/1/1 120 Access-2
1ELES 120 Access-3

PORT-DESC TTL SYS-NAME

1/1/1 120 Access-2
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watchlog/3
dbus—-daemon
intfd
extd-rsv—conver
scsi eh 6
cpuhp/3
kworker/4:0
scsi tmf 4
kworker/5:1H
smartd
fault—-handlerd
btd

portd
migration/4
scsi tmf 1
kworker/2 :0H
kauditd

rmond

certmgr

=
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icmp6 unreachab
Core—1#

The above output is the result of issuing the command show system resource-utilization. What command should be used to enable terminal output line by line or
page by page?

A. The command page

B. The command terminal length 30
C. The command more

D. The command less

Answer: A

NEW QUESTION 9
DRAG DROP
Match the term to the correct description.

Term Description

used for creating backup routes by implementing a

i higher administrative distance

Floating

. a distance vector protocol
Static Routes

an ipv4 link-state routing protocol that runs within

OSPFv2
an Autonomous System
OSPFv3 used to route traffic between Autonomous Systems
RIPv2 a routing protocol capable of routing IPv6 packets
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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Term Description

Floating used for creating backup routes by implementing a

alF Static Routes | higher administrative distance

Floating

; RIPv2 a distance vector protocol
Static Routes

an ipv4 link-state routing protocol that runs within

OSPFv2 OSPFv2
an Autonomous System
OSPFv3 BGP used to route traffic between Autonomous Systems
RIPv2 OSPFv3 a routing protocol capable of routing IPv6 packets

NEW QUESTION 10
Which two statements accurately describe the features of NetEdit? (Choose two.)

A. NetEdit can be used to configure and validate any third-party device that supports SSH and REST access.
B. NetEdit includes trial licensing for up to 10 nodes.
C. NetEdit can perform configuration and compliance validation.

D. NetEdit supports viewing and editing multiple devices using a single deployment plan.
E. NetEdit can run on a mobile device using Android or Apple IOS.

Answer: CD

NEW QUESTION 10
You have completed a successful VSF stack between two switches.
Without manually assigning a backup switch, what is the expected output when issuing a show vsf command?

A T1-6300-A# show vsf
<omitted>
Mbr Mac Address type Status ID
1  88:3a:30:a3:e5:40 JL660A Commander
2 88:3a:30:a6:d9:80 JL660A Secondary

T1-6300-A# show vsf

<omitted>

Mbr Mac Address type Status ID
1 88:3a:30:a3:e5:40 JL660A Primary

2  88:3a:30:a6:d9:80 JL660A Secondary
© T1-6300-A# show vsf

<omitted >

Mbr Mac Address type Status ID
1  88:3a:30:a3:e5:40 JL660A Master

2 88:3a:30:a6:d9:80 JL660A Member
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T1-6300-A# show vsf

<omitted >

Mbr Mac Address type Status ID
1 88:3a:30:a3:e5:40 JL660A Master

2  88:3a2:30:a6:d9:80 JL660A Standby

Answer: D

NEW QUESTION 12
Refer to the exhibit.

SWl# show wlan

vLAN‘_ Namg ““““““ Spgtps _“Rgason ““““ ?gpe _____ ;Hgﬁrfages ______
= DEFAULT VLAN 1 uwp ok default  <output omitted>
10 Engineering up ok static L1/ 1=3 /117

20 Guest up ok static 1/1/11-1/1/14

The above command was applied to an Aruba AOS-CX 6300M 24-port switch with 4-port SFP56 uplinks. All ports are set as access switchports. Which ports carry
VLAN 1 traffic?

A. 1/1/8, 1/1/10, 1/1/5-1/1/24
B. 1/1/1-1/1/28
C. 1/1/1-1/1/24
D. 1/1/8-1/1/10, 1/1/5-1/1/28

Answer: D

NEW QUESTION 14
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